Chapter 01 Testbank questions

Student: ___________________________________________________________________________

1.  The business cycle refers to:  
A.  the path of economies as they move through periods of economic expansion and contraction
 
B.  the long-run improvement in standards of living due to the entrepreneurial behaviour of businesses
 
C.  a recession, where economic performance is poor
 
D.  an expansion, where economic performance is good
 

 

2. Inflation refers to: 
A. the tendency for the overall level of prices to rise

B. the tendency for the overall level of prices to fall

C. a period of economic expansion

D. a rise in the real value of a country's currency


 

3. The national debt refers to ______, while the public debt refers to ______. 
A. the amount the country borrows from overseas in one year; the amount the government borrows in one year

B. the amount the government borrows in one year; the amount the country borrows from overseas in one year

C. the amount owed by the government; the amount owed by the nation to other countries

D. the amount owed by the nation to other countries; the amount owed by the government


 

4.  Gross domestic product (GDP) equals the ______ of final _______ produced within a country during a given period of time.  
A.  market value; goods
 
B.  market value; services
 
C.  market value; goods and services
 
D.  quantity; goods
 

 

5.  The market value of final goods and services produced within a country during a period of time is called:  
A.  guaranteed direct prices
 
B.  general domestic productivity
 
C.  government documented production
 
D.  gross domestic product
 

 

6. When economists use market values to aggregate output, they sum the: 
A. number of items produced

B. quantity of items produced

C. price times the quantity of each item produced

D. amount of each item produced


 

7. Suppose that the total production of an economy consists of four oranges and ten chocolate bars, with each orange selling for $0.25 and each chocolate bar selling for $0.50. What is the market value of production in this economy? 
A. $1

B. $4.50

C. $5

D. $6


 

8. Suppose that the total production of an economy consists of ten oranges and five chocolate bars, with each orange selling for $0.20 and each chocolate bar selling for $1. What is the market value of production in this economy? 
A. $2

B. $5

C. $7

D. $11


 

9. The value of unpaid work by a homemaker ___ included in GDP, and the value of housekeeping services sold in the market ___ included in GDP. 
A. is; is not

B. is; is

C. is not; is not

D. is not; is


 

10.  Educational services provided by public schools are:  
A.  included in GDP at market prices
 
B.  included in GDP at cost
 
C.  excluded from GDP because they are not sold in markets
 
D.  excluded from GDP because they are publicly provided
 

 

11.  If a car manufacturer pays $200 for a car windscreen, $400 for four car tyres and $100 for a car CD player, and sells cars made with these parts for $20 000, then how much does each car that the car manufacturer sells contribute to GDP?  
A.  $19 300 
B.  $20 000 
C.  $20 200 
D.  $20 400 

 

12.  If the Citrus Growers Association grows $1 million worth of oranges, sells $500 000 worth of these oranges to consumers, and uses the rest to make orange juice that is sold to consumers for $3 million, what is the Citrus Growers Association's contribution to GDP?  
A.  $500 000 
B.  $1 000 000 
C.  $3 500 000 
D.  $4 000 000 

 

13. 

Suppose a jar of orange marmalade that is ultimately sold to a customer at The Corner Shop is produced by the following production process:
  

	
 Name of company
	Revenues
	Cost of purchased inputs

	Citrus Growers
	$0.75
	$0.00

	Mildura Jam Company
	$2.00
	$0.75

	The Corner Shop
	$2.50
	$2.00



 What is the value added of Citrus Growers?

 
A. $0

B. $0.50

C. $0.75

D. $1.25

 

14. 

Suppose a jar of orange marmalade that is ultimately sold to a customer at The Corner Store is produced by the following production process:
  

	
 Name of company
	Revenues
	Cost of purchased inputs

	Citrus Growers
	$0.75
	$0.00

	Mildura Jam Company
	$2.00
	$0.75

	The Corner Shop
	$2.50
	$2.00



 What is the sum of the value added of all the firms?

 
A. $2

B. $2.50

C. $2.75

D. $4.50

 

15. The four categories of final users of GDP are: 
A. businesses, firms, governments and the foreign sector

B. households, charities, governments and the foreign sector

C. businesses, corporations, firms and farms

D. households, firms, governments and the foreign sector


 

16.  Total spending on final goods and services in an economy must equal total:  
A.  production
 
B.  revenues from all transactions
 
C.  consumption
 
D.  investment
 

 

17. Investment spending includes spending on: 
A. durables, non-durables and services

B. financial assets

C. capital goods and residential housing
D. goods and services by federal, state and local governments


 

18. If business inventories at the beginning of the year equal $40 billion and at the end of the year they equal $55 billion, then GDP will: 
A. decrease by $15 billion

B. increase by $15 billion

C. increase by $40 billion

D. increase by $55 billion


 

19. Net exports equal: 
A. the value added of exports

B. exports minus imports

C. the market value of exports

D. exports plus imports


 

20. Consumption expenditure is subdivided into three categories, including: 
A. consumer durables, consumer non-durables and new homes

B. consumer services, consumer durables and new homes

C. consumer durables, consumer non-durables and services

D. consumer durables, consumer non-durables and net exports


 

21. Which of the following is included when using the expenditure method to measure GDP? 
A. Corporate profits

B. Gross private domestic investment

C. Capital income

D. Net interest on the government debt


 

22.  Which of the following is included when using the income method to measure GDP?  
A.  Net exports of goods and services
 
B.  Household consumption expenditures
 
C.  Gross private domestic investment
 
D.  Business profits
 

 

23. 

Given the following data for an economy, compute the investment component of GDP:
  

	
 Consumption expenditures
	1000

	Imports
	600

	Government purchases
	700

	Construction of new homes and flats
	500

	Sales of existing homes and flats
	600

	Exports
	500

	Government payments to retirees
	200

	Household purchases of durable goods
	300

	Beginning-of-year inventories
	500

	End-of-year inventories
	600

	Business fixed investment
	300


 
A. 300

B. 400

C. 800

D. 900

 

24. 

Given the following data for an economy, compute the investment component of GDP:
  

	
 Consumption expenditures
	1000

	Imports
	600

	Government purchases
	700

	Construction of new homes and flats
	500

	Sales of existing homes and flats
	600

	Exports
	500

	Government payments to retirees
	200

	Household purchases of durable goods
	300

	Beginning-of-year inventories
	500

	End-of-year inventories
	600

	Business fixed investment
	300


 
A. 300

B. 400

C. 800

D. 900

 

25.  An economy produces only 1 000 000 computers valued at $2000 each. Of these, 200 000 are sold to consumers, 300 000 are sold to businesses, 300 000 are sold to the government, and 100 000 are sold abroad. No computers are imported. The unsold computers at the end of the year are held in inventory by the computer manufacturers. What is the value of GDP?  
A.  $0.9 billion
 
B.  $1.0 billion
 
C.  $1.8 billion
 
D.  $2.0 billion
 

 

26.  Three equivalent ways to measure GDP are total _____, total _____ and total ______.  
A.  profits; production; saving
 
B.  expenditure; income; profits
 
C.  investment; consumption; saving
 
D.  production; income; expenditure
 

 

27.  Labour income includes:  
A.  wages, salaries and earnings of the self-employed
 
B.  payments to owners of factories, machines and buildings
 
C.  interest, dividends and rent
 
D.  profits, royalties and rent
 

 

28.  Capital income includes:  
A.  profits, rent and interest
 
B.  wages and salaries
 
C.  earnings of the self-employed
 
D.  capital gains from stock sales
 

 

29.  Profits, rents, interest and royalties are examples of:  
A.  consumption
 
B.  labour income
 
C.  capital income
 
D.  investment
 

 

30.  Real GDP is measured in ______ prices and nominal GDP is measured in _______ prices.
  
A.  current; base-year
 
B.  base-year; current 
C.  current; current
 
D.  current; market
 

 

31.  A measure of GDP in which quantities produced are valued at current-year prices is called:  
A.  real GDP
 
B.  nominal GDP
 
C.  base GDP
 
D.  physical GDP
 

 

32.  If prices in the current year are higher on average than in the base year, real GDP in the current year _________ nominal GDP in the current year.  
A.  is greater than
 
B.  is less than
 
C.  is equal to
 
D.  could be greater or less than
 

 

33.  To calculate nominal GDP, the quantities of goods and services are valued at prices in the ________ year, but to calculate real GDP, they are valued at ____________-year prices.  
A.  current, base
 
B.  base; current
 
C.  current; current
 
D.  base; base
 

 

34.  Real GDP is GDP adjusted for:  
A.  changes in the quality of goods and services
 
B.  value added during a previous year
 
C.  inflation
 
D.  imports
 

 

35.  One shortcoming of GDP as an indicator of society's social wellbeing is that it fails to measure the:  
A.  growth in productivity
 
B.  increase in the quantity of goods
 
C.  non-market production
 
D.  change in the price level
 

 

36. According to the textbook, which of the following best explains why fewer children complete high school in poorer countries? 
A. Beyond a certain age, sending children to school results in important lost income for families

B. Education is not valued in poorer countries

C. Education is not available in poorer countries

D. Lack of ability


 

37.  The consumer price index for the current year measures the cost of a standard basket in the _____ year relative to the cost of the same basket in the ______ year.  
A.  current; base
 
B.  current; current
 
C.  base; index
 
D.  base; current
 

 

38.  Suppose that the total expenditures for a typical household in 2000 equalled $2500 per month, while the cost of purchasing exactly the same items in 2003 was $3000. If 2000 is the base year, the CPI for 2003 equals:  
A.  0.83
 
B.  1.00
 
C.  1.20
 
D.  1.25
 

 

39.  Suppose that the total expenditures for a typical household in 2000 equalled $2500 per month, while the cost of purchasing exactly the same items in 2003 was $3000. If 2000 is the base year, the CPI for 2000 equals:  
A.  0.83
 
B.  1.00
 
C.  1.20
 
D.  1.25
 

 

40.  If the total expenditures of a typical family equalled $35 000 per year in 2000 and the exact same basket of goods and services cost $40 000 in the year 2003, the family's cost of living:  
A.  increased by 14%
 
B.  decreased by 14%
 
C.  increased by 12.5%
 
D.  decreased by 12.5%
 

 

41.  The consumer price index for Planet Econ consists of only two items: books and hamburgers. In 2000, the base year, the typical consumer purchased ten books for $25 each and 25 hamburgers for $2 each. In 2003, the typical consumer purchased 15 books for $30 each and 30 hamburgers for $3 each. The consumer price index for 2003 on Planet Econ equals:  
A.  1.00
 
B.  1.08
 
C.  1.15
 
D.  1.25
 

 

42.  The consumer price index for Planet Econ consists of only two items: books and hamburgers. In 2000, the base year, the typical consumer purchased ten books for $20 each and 200 hamburgers for $1 each. In 2003, the typical consumer purchased 12 books for $23 each and 300 hamburgers for $1.15 each. The consumer price index for 2003 on Planet Econ equals:  
A.  1.00
 
B.  1.15
 
C.  1.25
 
D.  1.35
 

 

43.  Every year the typical family on Planet Econ consumes ten pizzas, seven pairs of jeans and 20 litres of milk. In 2002 pizzas cost $10 each, jeans cost $40 per pair, and milk costs $3 per litre. In 2003, the price of pizzas went down to $8 each, while the price of jeans and milk remained the same. Between 2002 and 2003, a typical family's cost of living:  
A.  increased by 4.5%
 
B.  decreased by 4.5%
 
C.  increased by 20%
 
D.  decreased by 20%
 

 

44.  The consumer price index measures the cost of:  
A.  a fixed basket of goods and services
 
B.  a changing basket of goods and services
 
C.  all goods and services purchased by consumers
 
D.  goods and services required to live above the poverty level
 

 

45.  The rate of inflation is the:  
A.  price level
 
B.  consumer price index
 
C.  annual percentage change in the price level
 
D.  the average price of a given class of goods or services relative to the price of the same goods and services in a base year
 

 

46.  The CPI in year 1 equalled 1.45. The CPI in year 2 equalled 1.51. The rate of inflation between years 1 and 2 was _____ %.  
A.  4.0
 
B.  4.1
 
C.  4.5
 
D.  5.1
 

 

47.  The CPI in year 1 equalled 1.55. The CPI in year 2 equalled 1.64. The rate of inflation between years 1 and 2 was _____ %.  
A.  4.0
 
B.  5.5
 
C.  5.8
 
D.  6.4
 

 

48.  The CPI in 1974 equalled 0.49. The CPI in 1975 equalled 0.54. The rate of inflation between 1974 and 1975 was ____ %.  
A.  5.4
 
B.  9.0
 
C.  9.3
 
D.  10.2
 

 

49.  The price of a specific good or service in comparison with the prices of other goods and services is called:  
A.  a relative price
 
B.  a real price
 
C.  indexing
 
D.  inflation
 

 

50.  If the price of aeroplane tickets rises by 5% while the prices of other goods and services are rising by 10% on average, then the relative price of aeroplane tickets:  
A.  has increased by 5%
 
B.  has increased by 10%
 
C.  has decreased
 
D.  has remained constant
 

 

51.  If all prices, including the price of beef, increase by 3%, then the relative price of beef has ____ and there _____ inflation.  
A.  increased; is
 
B.  increased; is no
 
C.  remained constant; is
 
D.  remained constant; is no
 

 

52.  Suppose the value of the CPI is 1.10 in year 1, 1.16 in year 2, and 1.27 in year 3. Assume also that the price of computers increases by 3% between year 1 and year 2, and by another 3% between year 2 and year 3. The price level is increasing, the inflation rate is _______, and the relative price of computers is _________.  
A.  increasing; increasing
 
B.  constant; increasing
 
C.  constant; decreasing
 
D.  increasing; decreasing
 

 

53.  Inflation _____ the signals sent by price changes to demanders and suppliers of goods and services.  
A.  amplifies
 
B.  obscures
 
C.  enhances
 
D.  has no impact on
 

 

54.  Shoe-leather costs of inflation refer to the:  
A.  difficulty of interpreting the price signals in an inflationary environment
 
B.  unintended changes in taxes caused by inflation
 
C.  arbitrary redistribution of wealth from one group to another
 
D.  costs of economising on holding cash
 

 

55.  The phenomenon known as _____ occurs when inflation causes people to pay an increasing percentage of their income in taxes, even when their real incomes have not changed.  
A.  deflation
 
B.  bracket creep
 
C.  the Fisher effect
 
D.  shoe-leather costs
 

 

56.  In Econoland in 2008, people with incomes between $20 000 and $30 000 must pay 12% of their income in taxes, and people with incomes between $30 001 and $40 000 must pay 15%. In 2008, the CPI in Econoland equals 1.20 and increases to 1.26 in 2009. If the government of Econoland wants to keep households with a given real income from being pushed up into a higher tax bracket by inflation, the $20 000 to $30 000 bracket will be changed to:  
A.  $15 873 to $23 810
 
B.  $21 000 to $31 500
 
C.  $24 000 to $37 800
 
D.  $25 200 to $37 800
 

 

57.  If workers and employers expecting 3% inflation agree to a three-year wage contract, and inflation turns out to be 5%, then:  
A.  workers gain and employers gain
 
B.  workers gain and employers lose
 
C.  workers lose and employers gain
 
D.  workers lose and employers lose
 

 

58.  If workers and employers expecting 5% inflation agree to a three-year wage contract and inflation turns out to be 3%, then:  
A.  workers gain and employers gain
 
B.  workers gain and employers lose
 
C.  workers lose and employers gain
 
D.  workers lose and employers lose
 

 

59.  If a borrower and lender agree to an interest rate on a loan when inflation is expected to be 7% and inflation turns out to be 10% over the life of the loan, then the borrower _____ and the lender ______.  
A.  gains; gains
 
B.  gains; loses
 
C.  is not affected; gains
 
D.  loses; gains
 

 

60.  If you borrow money at what you believe is an appropriate interest rate for the level of expected inflation, but the actual inflation rate turns out to be much higher than you had expected:  
A.  you will be paying the loan back with dollars that have much less purchasing power than you had expected
 
B.  you will be paying the loan back with dollars that have much higher purchasing power than you had expected
 
C.  you will be paying the loan back with dollars that have the same purchasing power as the dollars you borrowed
 
D.  you, the borrower, will gain from an intended redistribution of wealth
 

 

61.  The real costs of inflation to society include:  
A.  lost purchasing power of holding cash
 
B.  higher relative prices
 
C.  lower relative prices
 
D.  interference with long-term planning
 

 

62.  Suppose inflation is currently running at 15% and, as a result, sales catalogues have to be reprinted every month. This is an example of:  
A.  noise in the price system
 
B.  menu costs due to inflation
 
C.  an unexpected redistribution in wealth
 
D.  shoe-leather costs of inflation
 

 

63. The annual percentage increase in the purchasing power of a financial asset is called the: 
A. market interest rate

B. real interest rate

C. nominal interest rate

D. inflation rate


 

64. The annual increase in the dollar value of a financial asset is called the: 
A. real rate of return

B. real interest rate

C. nominal interest rate

D. inflation rate


 

65.  If the real interest rate is 3% and the inflation rate is 7%, then the nominal interest rate equals:  
A.  3%
 
B.  4%
 
C.  7%
 
D.  10%
 

 

66.  If the real interest rate is 4% and the inflation rate is 9%, then the nominal interest rate equals:  
A.  4%
 
B.  5%
 
C.  9%
 
D.  13%
 

 

67.  On 1 January 2000, Anna invested $5000 at 5% interest for one year. The CPI on 1 January 2000 stood at 1.60. On 1 January 2001, the CPI was 1.68. The real rate of interest earned by Anna was ____ %.  
A.  -5
 
B.  0
 
C.  5
 
D.  8
 

 

68.  On 1 January 2000, Edward invested $10 000 at 5% interest for one year. The CPI on 1 January 2000 stood at 1.60. On 1 January 2001, the CPI was 1.76. The real rate of interest earned by Edward was ____ %.  
A.  -5
 
B.  0
 
C.  5
 
D.  8
 

 

69.  For a given nominal interest rate, an unexpectedly high inflation rate ______ the real interest rate.  
A.  increases
 
B.  decreases
 
C.  has no impact on
 
D.  may either increase or decrease
 

 

70.  For a given nominal interest rate, an unexpectedly low inflation rate ______ the real interest rate.  
A.  increases
 
B.  decreases
 
C.  has no impact on
 
D.  may either increase or decrease
 

 

71.  Unexpectedly high inflation ______ borrowers and _____ lenders.  
A.  helps; hurts
 
B.  hurts; does not affect
 
C.  hurts; hurts
 
D.  hurts; helps
 

 

72.  Deflation is a situation in which the:  
A.  quantity of goods and services produced is increasing over time
 
B.  quantity of goods and services produced is decreasing over time
 
C.  prices of most goods and services are falling over time
 
D.  prices of most goods and services are rising over time
 

 

73. If inflation is -10% (that is, deflation), then it is reasonable to expect: 
A. the real interest rate to be at least 10%

B. the real interest rate to be zero

C. the real interest rate to be less than 10%

D. the nominal interest rate to be -10%


 

74.  Suppose a new computer model is introduced to replace a model included in the CPI basket. The price of the new model is 5% higher than the discontinued model, but the new model also includes additional features. In this situation, the CPI will tend to _____ inflation as a result of _____ bias.  
A.  overstate; substitution
 
B.  understate; substitution
 
C.  accurately measure; substitution
 
D.  overstate; quality adjustment
 

 

75.  Suppose that the price of apples rises sharply compared with the price of oranges. People buy more oranges and fewer apples than they did in the CPI base year. In this situation, the CPI will tend to _____ inflation as a result of _____ bias.  
A.  overstate; substitution
 
B.  understate; substitution
 
C.  accurately measure; substitution
 
D.  overstate; quality adjustment
 

 

76.  The rate of inflation can be measured by:  
A.  the level of the GDP deflator
 
B.  the level of the CPI
 
C.  the rate of change in the CPI from one time period to the next
 
D.  the GDP deflator minus the CPI index
 

 

77.  The rate of inflation can be measured by:  
A.  the level of the GDP deflator
 
B.  the level of the CPI
 
C.  the rate of change in the CPI from one time period to the next
 
D.  the GDP deflator minus the CPI index
 

 

78.  

Use the following data for an economy to answer the question:
  

	
 Year
	Price level  
	Nominal GDP

	2004
	100
	$1600

	2006
	150
	$3000

	2008
	300
	$6000



 Using 2004 as the base year, what was real GDP in 2008?

 
A. $1600

B. $2000

C. $2400

D. $3000

 

79. 

Use the following data for an economy to answer the question:
  

	
 Year
	Price level
	Nominal GDP

	2002
	100
	$1600

	2004
	150
	$3000

	2006
	300
	$6000



 Which of the following is true concerning changes between 2002 and 2004?

 
A. Nominal and real GDP both increased

B. Nominal GDP increased, but real GDP was unchanged

C. Nominal GDP increased, but real GDP declined

D. None of the above.

 

80.  The substitution bias in calculating CPI can be explained by the fact that CPI:  
A.  measures the cost of living
 
B.  is based on a fixed basket of goods and services
 
C.  measures prices at two different times
 
D.  None of the given answers.
 

 

81.  The three main methods of measuring GDP are:  
A.  the income method, the production method, and the expenditure method
 
B.  the income method, the production method, and the receipts method
 
C.  the goods method, the income method, and the services method
 
D.  the saving method, the expenditure method, and the investment method
 

 

82.  The components of the expenditure method to measure GDP include all of the following EXCEPT :  
A.  net exports
 
B.  government purchases of goods and services
 
C.  changes in the stocks of inventories
 
D.  the implicit payments for unpaid household work
 

 

83.  Which of the following is/are included in GDP?  
A.  Interest payments on government debt
 
B.  The purchase of stocks and bonds
 
C.  Government purchase of a new computer
 
D.  All of the given options
 

 

84.  Which of the following items is NOT part of government expenditures on goods and services in GDP accounts?  
A.  Petrol purchases for government cars
 
B.  Social security expenditures
 
C.  Computer hardware for use by the Australian Taxation Office
 
D.  Furniture for the Prime Minister's office
 

 

85.  To compare economic activity over time we should use:  
A.  nominal GDP per capita
 
B.  real GDP
 
C.  nominal GDP
 
D.  nominal GDP adjusted for unemployment
 

 

86. Which of the following is NOT capital income? 
A. Rents

B. Interest

C. Profit

D. Transfer payments


 

87. Which of the following is NOT consumption expenditure? 
A. Purchase of furniture

B. Expenditure on food

C. Purchase of new houses

D. Expenditure on insurance


 

88.  What is the largest expenditure component of Australian GDP?  
A.  Government purchases
 
B.  Import
 
C.  Investment
 
D.  Consumption
 

 

89.  Emil's Heritage Kitchen shop installed 300 kitchen cabinets in the year 2006 and 350 in the year 2007. The price of one kitchen cabinet was $1000 in 2006 and $1200 in 2007. If the year 2006 is the base year, what was Emil's contribution to real GDP in the year 2006?  
A.  $300 000 
B.  $350 000 
C.  $360 000 
D.  $420 000 

 

90.  Emil's Heritage Kitchen shop installed 300 kitchen cabinets in the year 2006 and 350 in the year 2007. The price of one kitchen cabinet was $1000 in 2006 and $1200 in 2007. If the year 2006 is the base year, what was Emil's contribution to real GDP in the year 2007?  
A.  $300 000
 
B.  $350 000
 
C.  $360 000
 
D.  $420 000
 

 

91. If a borrower and a lender agree to a loan at 5% when the inflation rate is 3%, then 5% is the ____ interest rate. 
A. relative

B. nominal

C. real

D. current


 

92.  

If the price of coffee rises sharply compared with the price of tea, and coffee-drinkers don't mind drinking tea, consumers will buy more tea and less coffee than they did in the CPI base year. Thus, CPI will tend to _______ inflation as a result of ___________ bias.

 
A. overstate; quality adjustment

B. overstate; substitution

C. understate; substitution

D. overstate; quality adjustment

 

93.  Country X is experiencing unexpectedly low inflation. It will ______ borrowers and _______ lenders.  
A.  hurt; help
 
B.  help; help
 
C.  help; hurt
 
D.  hurt; not affect
 

 

94.  Which of the following is an example of an intermediate good?  
A.  The purchase of a tyre by a household
 
B.  Holden Motor Company's purchase of tyres for new cars
 
C.  Holden Motor Company's purchase of a new machine to be used in the production plant in Adelaide
 
D.  None of the given options 

 

95.  Which of the following would NOT be included in a nation's GDP?  
A.  The government purchases two new planes for the Army
 
B.  Qantas spends $5 million on repairing jet aircrafts
 
C.  A landlord rents an apartment for $2000 per month
 
D.  A student receives $3000 from his parents
 

 

96.  Suppose we knew that the nominal level of GDP fell and that inflation was greater than zero. What could we conclude about real GDP from these facts?  
A.  Real GDP fell
 
B.  Real GDP stayed the same
 
C.  Real GDP rose
 
D.  None of the above.
 

 

97.  Which of the following is included in GDP calculations?  
A.  Illegal activities
 
B.  Goods produced and used at home
 
C.  Goods produced for recreational activities
 
D.  Volunteering services
 

 

98.  Which of the following is NOT a true cost of inflation?  
A.  Menu costs
 
B.  Wage costs
 
C.  Shoe-leather costs
 
D.  Reduced efficiency of the market system
 

 

99.  Which of the following is used for calculating value added?  
A.  Revenue and expenses
 
B.  Revenue and the costs of inputs purchased from other firms
 
C.  Profits and the costs of inputs purchased from other firms
 
D.  Profits and expenses
 

 

100.  Which of the following is NOT a component of expenditure?  
A.  Net exports
 
B.  Import
 
C.  Investments
 
D.  Government purchases
 

 

101.  In a hypothetical economy, during a particular year, nominal household incomes rise by 10% while consumer prices rise by 5% and house prices rise by 10%. What has happened to real (i.e. CPI-adjusted) household income in this economy during the year?  
A.  Real household income has risen by less than 5% 
B.  Real household income has risen by more than 5% 
C.  Real household income has declined by less than 5% 
D.  Real household income has declined by more than 5% 

 

102.  The weekly unemployment benefit in a hypothetical economy is currently $500. The government expects CPI deflation in the coming year of 5%. Which of the following government policy responses will leave unemployed workers no worse off in real terms?  
A.  The weekly unemployment benefit payment is raised to $550 
B.  The weekly unemployment benefit payment is reduced to $450 
C.  The weekly unemployment benefit payment is raised to $525 
D.  The weekly unemployment benefit payment is reduced to $475 

 

103.  A fashion outlet employs casual sales staff on an as-needed basis at the legal minimum hourly wage. At the same time, the owner of the outlet enters into a fixed-term contract with her manufacturer for the supply of clothing that will be sold through the outlet. Other things being equal and assuming that wage and supply costs are the only costs, what is the most likely impact of inflation on the fashion outlet’s nominal profit?  
A.  Nominal profit will increase only if wage costs are greater than supply costs 
B.  Nominal profit will increase only if wage costs are less than supply costs 
C.  Nominal profit will increase regardless of the relative share of wage and supply costs 
D.  Nominal profit will increase only if wage and supply costs are equal 

 

104.  A clothing manufacturer employs casual sales staff on an as-needed basis at the legal minimum hourly wage. At the same time, the owner of the outlet enters into a fixed-term contract with a department store to supply clothing to the store. Other things being equal and assuming that wage and supply costs are the only costs, what is the most likely impact of inflation on the clothing manufacturer’s nominal profit?  
A.  Nominal profit will increase only if wage costs are greater than supply costs 
B.  Nominal profit will increase only if wage costs are less than supply costs 
C.  Nominal profit will increase regardless of the relative share of wage and supply costs 
D.  Nominal profit will increase only if wage and supply costs are equal 

 

105.  It is often claimed that official estimates of CPI inflation over-estimate the rate of inflation. Which of the following best explains this argument?  
A.  The quality of goods and services tends to fall over time and consumers tend to substitute cheaper products for more expensive products 
B.  The quality of goods and services tends to rise over time and consumers tend to substitute cheaper products for more expensive products 
C.  The quality of goods and services tends to fall over time and consumers tend to substitute more expensive products for cheaper products 
D.  The quality of goods and services tends to rise over time and consumers tend to substitute more expensive products for cheaper products 

 

106.  When nominal GDP exceeds real GDP it means that prices are higher.
  
True    False

 

107.  Shoe-leather costs are a great problem for countries such as Australia.
  
True    False

 

108.  Gross domestic product includes second-hand goods.
  
True    False

 

109.  The real interest rate equals nominal interest rate plus the inflation rate.
  
True    False

 

110.  Real GDP should be used for comparing economic activity over time.
  
True    False

 

111. If a measure of real GDP could include the value of leisure time, real GDP would increase. 
True    False

 

112.  The real costs of inflation to society include higher relative prices.
  
True    False

 

113.  CPI may overestimate the true rate of inflation.  
True    False

 

114.  When inflation is high, lenders will charge a high nominal interest rate.
  
True    False

 

115.  The inflation rate is measured by the __________ change in __________ over a particular period of time.  


 


 


 

 

116.  ____________ is a situation where there is a sustained fall in the general level of prices.  


 


 


 

 

117.  

GDP equals ______ income plus _______ income.

 


 


 


 

 

118. Recession is defined as __________  __________ quarters in which the economy's output __________. 


 


 


 

 

Chapter 01 Testbank questions Key
 

1. (p.  )  The business cycle refers to:  
A.  the path of economies as they move through periods of economic expansion and contraction
 
B.  the long-run improvement in standards of living due to the entrepreneurial behaviour of businesses
 
C.  a recession, where economic performance is poor
 
D.  an expansion, where economic performance is good
 

 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
2. Inflation refers to: 
A. the tendency for the overall level of prices to rise

B. the tendency for the overall level of prices to fall

C. a period of economic expansion

D. a rise in the real value of a country's currency


 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.01 When is the economy performing well?
 
3. The national debt refers to ______, while the public debt refers to ______. 
A. the amount the country borrows from overseas in one year; the amount the government borrows in one year

B. the amount the government borrows in one year; the amount the country borrows from overseas in one year

C. the amount owed by the government; the amount owed by the nation to other countries

D. the amount owed by the nation to other countries; the amount owed by the government


 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.01 When is the economy performing well?
 
4. (p.  )  Gross domestic product (GDP) equals the ______ of final _______ produced within a country during a given period of time.  
A.  market value; goods
 
B.  market value; services
 
C.  market value; goods and services
 
D.  quantity; goods
 

 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
5. (p.  )  The market value of final goods and services produced within a country during a period of time is called:  
A.  guaranteed direct prices
 
B.  general domestic productivity
 
C.  government documented production
 
D.  gross domestic product
 

 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
6. When economists use market values to aggregate output, they sum the: 
A. number of items produced

B. quantity of items produced

C. price times the quantity of each item produced

D. amount of each item produced


 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
7. Suppose that the total production of an economy consists of four oranges and ten chocolate bars, with each orange selling for $0.25 and each chocolate bar selling for $0.50. What is the market value of production in this economy? 
A. $1

B. $4.50

C. $5

D. $6


 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
8. Suppose that the total production of an economy consists of ten oranges and five chocolate bars, with each orange selling for $0.20 and each chocolate bar selling for $1. What is the market value of production in this economy? 
A. $2

B. $5

C. $7

D. $11


 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
9. The value of unpaid work by a homemaker ___ included in GDP, and the value of housekeeping services sold in the market ___ included in GDP. 
A. is; is not

B. is; is

C. is not; is not

D. is not; is


 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
10. (p.  )  Educational services provided by public schools are:  
A.  included in GDP at market prices
 
B.  included in GDP at cost
 
C.  excluded from GDP because they are not sold in markets
 
D.  excluded from GDP because they are publicly provided
 

 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
11.  If a car manufacturer pays $200 for a car windscreen, $400 for four car tyres and $100 for a car CD player, and sells cars made with these parts for $20 000, then how much does each car that the car manufacturer sells contribute to GDP?  
A.  $19 300 
B.  $20 000 
C.  $20 200 
D.  $20 400 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
12.  If the Citrus Growers Association grows $1 million worth of oranges, sells $500 000 worth of these oranges to consumers, and uses the rest to make orange juice that is sold to consumers for $3 million, what is the Citrus Growers Association's contribution to GDP?  
A.  $500 000 
B.  $1 000 000 
C.  $3 500 000 
D.  $4 000 000 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
13. 

Suppose a jar of orange marmalade that is ultimately sold to a customer at The Corner Shop is produced by the following production process:
  

	
 Name of company
	Revenues
	Cost of purchased inputs

	Citrus Growers
	$0.75
	$0.00

	Mildura Jam Company
	$2.00
	$0.75

	The Corner Shop
	$2.50
	$2.00



 What is the value added of Citrus Growers?

 
A. $0

B. $0.50

C. $0.75

D. $1.25

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
14. 

Suppose a jar of orange marmalade that is ultimately sold to a customer at The Corner Store is produced by the following production process:
  

	
 Name of company
	Revenues
	Cost of purchased inputs

	Citrus Growers
	$0.75
	$0.00

	Mildura Jam Company
	$2.00
	$0.75

	The Corner Shop
	$2.50
	$2.00



 What is the sum of the value added of all the firms?

 
A. $2

B. $2.50

C. $2.75

D. $4.50

 


Bloom's: Application
Difficulty: Hard
EQUIS: Apply knowledge
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
15. The four categories of final users of GDP are: 
A. businesses, firms, governments and the foreign sector

B. households, charities, governments and the foreign sector

C. businesses, corporations, firms and farms

D. households, firms, governments and the foreign sector


 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Learning Objective: 1.02a Why are these three ways equivalent?
Section: 1.02 Gross domestic product: measuring the nation's output
 
16. (p.  )  Total spending on final goods and services in an economy must equal total:  
A.  production
 
B.  revenues from all transactions
 
C.  consumption
 
D.  investment
 

 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
17. Investment spending includes spending on: 
A. durables, non-durables and services

B. financial assets

C. capital goods and residential housing
D. goods and services by federal, state and local governments


 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Learning Objective: 1.02a Why are these three ways equivalent?
Section: 1.02 Gross domestic product: measuring the nation's output
 
18. If business inventories at the beginning of the year equal $40 billion and at the end of the year they equal $55 billion, then GDP will: 
A. decrease by $15 billion

B. increase by $15 billion

C. increase by $40 billion

D. increase by $55 billion


 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Learning Objective: 1.02a Why are these three ways equivalent?
Section: 1.02 Gross domestic product: measuring the nation's output
 
19. Net exports equal: 
A. the value added of exports

B. exports minus imports

C. the market value of exports

D. exports plus imports


 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Learning Objective: 1.02a Why are these three ways equivalent?
Section: 1.02 Gross domestic product: measuring the nation's output
 
20. Consumption expenditure is subdivided into three categories, including: 
A. consumer durables, consumer non-durables and new homes

B. consumer services, consumer durables and new homes

C. consumer durables, consumer non-durables and services

D. consumer durables, consumer non-durables and net exports


 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Learning Objective: 1.02a Why are these three ways equivalent?
Section: 1.02 Gross domestic product: measuring the nation's output
 
21. Which of the following is included when using the expenditure method to measure GDP? 
A. Corporate profits

B. Gross private domestic investment

C. Capital income

D. Net interest on the government debt


 


Bloom's: Comprehension
Difficulty: Moderate
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
22. (p.  )  Which of the following is included when using the income method to measure GDP?  
A.  Net exports of goods and services
 
B.  Household consumption expenditures
 
C.  Gross private domestic investment
 
D.  Business profits
 

 


Bloom's: Knowledge
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
23. 

Given the following data for an economy, compute the investment component of GDP:
  

	
 Consumption expenditures
	1000

	Imports
	600

	Government purchases
	700

	Construction of new homes and flats
	500

	Sales of existing homes and flats
	600

	Exports
	500

	Government payments to retirees
	200

	Household purchases of durable goods
	300

	Beginning-of-year inventories
	500

	End-of-year inventories
	600

	Business fixed investment
	300


 
A. 300

B. 400

C. 800

D. 900

 


Bloom's: Application
Difficulty: Hard
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
24. 

Given the following data for an economy, compute the investment component of GDP:
  

	
 Consumption expenditures
	1000

	Imports
	600

	Government purchases
	700

	Construction of new homes and flats
	500

	Sales of existing homes and flats
	600

	Exports
	500

	Government payments to retirees
	200

	Household purchases of durable goods
	300

	Beginning-of-year inventories
	500

	End-of-year inventories
	600

	Business fixed investment
	300


 
A. 300

B. 400

C. 800

D. 900

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
25.  An economy produces only 1 000 000 computers valued at $2000 each. Of these, 200 000 are sold to consumers, 300 000 are sold to businesses, 300 000 are sold to the government, and 100 000 are sold abroad. No computers are imported. The unsold computers at the end of the year are held in inventory by the computer manufacturers. What is the value of GDP?  
A.  $0.9 billion
 
B.  $1.0 billion
 
C.  $1.8 billion
 
D.  $2.0 billion
 

 


Bloom's: Application
Difficulty: Hard
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
26. (p.  )  Three equivalent ways to measure GDP are total _____, total _____ and total ______.  
A.  profits; production; saving
 
B.  expenditure; income; profits
 
C.  investment; consumption; saving
 
D.  production; income; expenditure
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
27. (p.  )  Labour income includes:  
A.  wages, salaries and earnings of the self-employed
 
B.  payments to owners of factories, machines and buildings
 
C.  interest, dividends and rent
 
D.  profits, royalties and rent
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
28. (p.  )  Capital income includes:  
A.  profits, rent and interest
 
B.  wages and salaries
 
C.  earnings of the self-employed
 
D.  capital gains from stock sales
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
29. (p.  )  Profits, rents, interest and royalties are examples of:  
A.  consumption
 
B.  labour income
 
C.  capital income
 
D.  investment
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
30. (p.  )  Real GDP is measured in ______ prices and nominal GDP is measured in _______ prices.
  
A.  current; base-year
 
B.  base-year; current 
C.  current; current
 
D.  current; market
 

 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
31. (p.  )  A measure of GDP in which quantities produced are valued at current-year prices is called:  
A.  real GDP
 
B.  nominal GDP
 
C.  base GDP
 
D.  physical GDP
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
32. (p.  )  If prices in the current year are higher on average than in the base year, real GDP in the current year _________ nominal GDP in the current year.  
A.  is greater than
 
B.  is less than
 
C.  is equal to
 
D.  could be greater or less than
 

 


AACSB: Analytic
Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
33. (p.  )  To calculate nominal GDP, the quantities of goods and services are valued at prices in the ________ year, but to calculate real GDP, they are valued at ____________-year prices.  
A.  current, base
 
B.  base; current
 
C.  current; current
 
D.  base; base
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
34. (p.  )  Real GDP is GDP adjusted for:  
A.  changes in the quality of goods and services
 
B.  value added during a previous year
 
C.  inflation
 
D.  imports
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
35. (p.  )  One shortcoming of GDP as an indicator of society's social wellbeing is that it fails to measure the:  
A.  growth in productivity
 
B.  increase in the quantity of goods
 
C.  non-market production
 
D.  change in the price level
 

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.03 Real GDP is not the same as economic wellbeing
 
36. According to the textbook, which of the following best explains why fewer children complete high school in poorer countries? 
A. Beyond a certain age, sending children to school results in important lost income for families

B. Education is not valued in poorer countries

C. Education is not available in poorer countries

D. Lack of ability


 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.03 Real GDP is not the same as economic wellbeing
 
37. (p.  )  The consumer price index for the current year measures the cost of a standard basket in the _____ year relative to the cost of the same basket in the ______ year.  
A.  current; base
 
B.  current; current
 
C.  base; index
 
D.  base; current
 

 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.04 What does the consumer price index (CPI) mean?
Section: 1.04 The consumer price index: measuring the price level
 
38. (p.  )  Suppose that the total expenditures for a typical household in 2000 equalled $2500 per month, while the cost of purchasing exactly the same items in 2003 was $3000. If 2000 is the base year, the CPI for 2003 equals:  
A.  0.83
 
B.  1.00
 
C.  1.20
 
D.  1.25
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.05 How is the CPI measured?
Section: 1.04 The consumer price index: measuring the price level
 
39. (p.  )  Suppose that the total expenditures for a typical household in 2000 equalled $2500 per month, while the cost of purchasing exactly the same items in 2003 was $3000. If 2000 is the base year, the CPI for 2000 equals:  
A.  0.83
 
B.  1.00
 
C.  1.20
 
D.  1.25
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.05 How is the CPI measured?
Section: 1.04 The consumer price index: measuring the price level
 
40.  If the total expenditures of a typical family equalled $35 000 per year in 2000 and the exact same basket of goods and services cost $40 000 in the year 2003, the family's cost of living:  
A.  increased by 14%
 
B.  decreased by 14%
 
C.  increased by 12.5%
 
D.  decreased by 12.5%
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.05 How is the CPI measured?
Section: 1.04 The consumer price index: measuring the price level
 
41. (p.  )  The consumer price index for Planet Econ consists of only two items: books and hamburgers. In 2000, the base year, the typical consumer purchased ten books for $25 each and 25 hamburgers for $2 each. In 2003, the typical consumer purchased 15 books for $30 each and 30 hamburgers for $3 each. The consumer price index for 2003 on Planet Econ equals:  
A.  1.00
 
B.  1.08
 
C.  1.15
 
D.  1.25
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.05 How is the CPI measured?
Section: 1.04 The consumer price index: measuring the price level
 
42. (p.  )  The consumer price index for Planet Econ consists of only two items: books and hamburgers. In 2000, the base year, the typical consumer purchased ten books for $20 each and 200 hamburgers for $1 each. In 2003, the typical consumer purchased 12 books for $23 each and 300 hamburgers for $1.15 each. The consumer price index for 2003 on Planet Econ equals:  
A.  1.00
 
B.  1.15
 
C.  1.25
 
D.  1.35
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.05 How is the CPI measured?
Section: 1.04 The consumer price index: measuring the price level
 
43. (p.  )  Every year the typical family on Planet Econ consumes ten pizzas, seven pairs of jeans and 20 litres of milk. In 2002 pizzas cost $10 each, jeans cost $40 per pair, and milk costs $3 per litre. In 2003, the price of pizzas went down to $8 each, while the price of jeans and milk remained the same. Between 2002 and 2003, a typical family's cost of living:  
A.  increased by 4.5%
 
B.  decreased by 4.5%
 
C.  increased by 20%
 
D.  decreased by 20%
 

 


Bloom's: Application
Difficulty: Hard
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.05 How is the CPI measured?
Section: 1.04 The consumer price index: measuring the price level
 
44. (p.  )  The consumer price index measures the cost of:  
A.  a fixed basket of goods and services
 
B.  a changing basket of goods and services
 
C.  all goods and services purchased by consumers
 
D.  goods and services required to live above the poverty level
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.04 What does the consumer price index (CPI) mean?
Section: 1.04 The consumer price index: measuring the price level
 
45. (p.  )  The rate of inflation is the:  
A.  price level
 
B.  consumer price index
 
C.  annual percentage change in the price level
 
D.  the average price of a given class of goods or services relative to the price of the same goods and services in a base year
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
46. (p.  )  The CPI in year 1 equalled 1.45. The CPI in year 2 equalled 1.51. The rate of inflation between years 1 and 2 was _____ %.  
A.  4.0
 
B.  4.1
 
C.  4.5
 
D.  5.1
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
47. (p.  )  The CPI in year 1 equalled 1.55. The CPI in year 2 equalled 1.64. The rate of inflation between years 1 and 2 was _____ %.  
A.  4.0
 
B.  5.5
 
C.  5.8
 
D.  6.4
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
48. (p.  )  The CPI in 1974 equalled 0.49. The CPI in 1975 equalled 0.54. The rate of inflation between 1974 and 1975 was ____ %.  
A.  5.4
 
B.  9.0
 
C.  9.3
 
D.  10.2
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
49. (p.  )  The price of a specific good or service in comparison with the prices of other goods and services is called:  
A.  a relative price
 
B.  a real price
 
C.  indexing
 
D.  inflation
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
50. (p.  )  If the price of aeroplane tickets rises by 5% while the prices of other goods and services are rising by 10% on average, then the relative price of aeroplane tickets:  
A.  has increased by 5%
 
B.  has increased by 10%
 
C.  has decreased
 
D.  has remained constant
 

 


AACSB: Analytic
Bloom's: Application
Bloom's: Comprehension
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
51. (p.  )  If all prices, including the price of beef, increase by 3%, then the relative price of beef has ____ and there _____ inflation.  
A.  increased; is
 
B.  increased; is no
 
C.  remained constant; is
 
D.  remained constant; is no
 

 


Bloom's: Knowledge
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
52. (p.  )  Suppose the value of the CPI is 1.10 in year 1, 1.16 in year 2, and 1.27 in year 3. Assume also that the price of computers increases by 3% between year 1 and year 2, and by another 3% between year 2 and year 3. The price level is increasing, the inflation rate is _______, and the relative price of computers is _________.  
A.  increasing; increasing
 
B.  constant; increasing
 
C.  constant; decreasing
 
D.  increasing; decreasing
 

 


Bloom's: Application
Difficulty: Hard
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
53. (p.  )  Inflation _____ the signals sent by price changes to demanders and suppliers of goods and services.  
A.  amplifies
 
B.  obscures
 
C.  enhances
 
D.  has no impact on
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
54. (p.  )  Shoe-leather costs of inflation refer to the:  
A.  difficulty of interpreting the price signals in an inflationary environment
 
B.  unintended changes in taxes caused by inflation
 
C.  arbitrary redistribution of wealth from one group to another
 
D.  costs of economising on holding cash
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
55. (p.  )  The phenomenon known as _____ occurs when inflation causes people to pay an increasing percentage of their income in taxes, even when their real incomes have not changed.  
A.  deflation
 
B.  bracket creep
 
C.  the Fisher effect
 
D.  shoe-leather costs
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
56.  In Econoland in 2008, people with incomes between $20 000 and $30 000 must pay 12% of their income in taxes, and people with incomes between $30 001 and $40 000 must pay 15%. In 2008, the CPI in Econoland equals 1.20 and increases to 1.26 in 2009. If the government of Econoland wants to keep households with a given real income from being pushed up into a higher tax bracket by inflation, the $20 000 to $30 000 bracket will be changed to:  
A.  $15 873 to $23 810
 
B.  $21 000 to $31 500
 
C.  $24 000 to $37 800
 
D.  $25 200 to $37 800
 

 


AACSB: Analytic
Bloom's: Application
Bloom's: Comprehension
Difficulty: Hard
EQUIS: Analyse
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.06 What is inflation and how is it measured?
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
57. (p.  )  If workers and employers expecting 3% inflation agree to a three-year wage contract, and inflation turns out to be 5%, then:  
A.  workers gain and employers gain
 
B.  workers gain and employers lose
 
C.  workers lose and employers gain
 
D.  workers lose and employers lose
 

 


Bloom's: Application
Bloom's: Comprehension
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
58. (p.  )  If workers and employers expecting 5% inflation agree to a three-year wage contract and inflation turns out to be 3%, then:  
A.  workers gain and employers gain
 
B.  workers gain and employers lose
 
C.  workers lose and employers gain
 
D.  workers lose and employers lose
 

 


Bloom's: Application
Bloom's: Comprehension
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
59. (p.  )  If a borrower and lender agree to an interest rate on a loan when inflation is expected to be 7% and inflation turns out to be 10% over the life of the loan, then the borrower _____ and the lender ______.  
A.  gains; gains
 
B.  gains; loses
 
C.  is not affected; gains
 
D.  loses; gains
 

 


Bloom's: Application
Bloom's: Comprehension
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
60. (p.  )  If you borrow money at what you believe is an appropriate interest rate for the level of expected inflation, but the actual inflation rate turns out to be much higher than you had expected:  
A.  you will be paying the loan back with dollars that have much less purchasing power than you had expected
 
B.  you will be paying the loan back with dollars that have much higher purchasing power than you had expected
 
C.  you will be paying the loan back with dollars that have the same purchasing power as the dollars you borrowed
 
D.  you, the borrower, will gain from an intended redistribution of wealth
 

 


Bloom's: Application
Bloom's: Comprehension
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
61. (p.  )  The real costs of inflation to society include:  
A.  lost purchasing power of holding cash
 
B.  higher relative prices
 
C.  lower relative prices
 
D.  interference with long-term planning
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
62. (p.  )  Suppose inflation is currently running at 15% and, as a result, sales catalogues have to be reprinted every month. This is an example of:  
A.  noise in the price system
 
B.  menu costs due to inflation
 
C.  an unexpected redistribution in wealth
 
D.  shoe-leather costs of inflation
 

 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
63. The annual percentage increase in the purchasing power of a financial asset is called the: 
A. market interest rate

B. real interest rate

C. nominal interest rate

D. inflation rate


 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
64. The annual increase in the dollar value of a financial asset is called the: 
A. real rate of return

B. real interest rate

C. nominal interest rate

D. inflation rate


 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
65. (p.  )  If the real interest rate is 3% and the inflation rate is 7%, then the nominal interest rate equals:  
A.  3%
 
B.  4%
 
C.  7%
 
D.  10%
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
66. (p.  )  If the real interest rate is 4% and the inflation rate is 9%, then the nominal interest rate equals:  
A.  4%
 
B.  5%
 
C.  9%
 
D.  13%
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
67. (p.  )  On 1 January 2000, Anna invested $5000 at 5% interest for one year. The CPI on 1 January 2000 stood at 1.60. On 1 January 2001, the CPI was 1.68. The real rate of interest earned by Anna was ____ %.  
A.  -5
 
B.  0
 
C.  5
 
D.  8
 

 


Bloom's: Application
Difficulty: Hard
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
68.  On 1 January 2000, Edward invested $10 000 at 5% interest for one year. The CPI on 1 January 2000 stood at 1.60. On 1 January 2001, the CPI was 1.76. The real rate of interest earned by Edward was ____ %.  
A.  -5
 
B.  0
 
C.  5
 
D.  8
 

 


Bloom's: Application
Difficulty: Hard
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
69. (p.  )  For a given nominal interest rate, an unexpectedly high inflation rate ______ the real interest rate.  
A.  increases
 
B.  decreases
 
C.  has no impact on
 
D.  may either increase or decrease
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
70. (p.  )  For a given nominal interest rate, an unexpectedly low inflation rate ______ the real interest rate.  
A.  increases
 
B.  decreases
 
C.  has no impact on
 
D.  may either increase or decrease
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
71. (p.  )  Unexpectedly high inflation ______ borrowers and _____ lenders.  
A.  helps; hurts
 
B.  hurts; does not affect
 
C.  hurts; hurts
 
D.  hurts; helps
 

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
72. (p.  )  Deflation is a situation in which the:  
A.  quantity of goods and services produced is increasing over time
 
B.  quantity of goods and services produced is decreasing over time
 
C.  prices of most goods and services are falling over time
 
D.  prices of most goods and services are rising over time
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.09 What is deflation and why is it regarded as a problem?
Section: 1.04 The consumer price index: measuring the price level
 
73. If inflation is -10% (that is, deflation), then it is reasonable to expect: 
A. the real interest rate to be at least 10%

B. the real interest rate to be zero

C. the real interest rate to be less than 10%

D. the nominal interest rate to be -10%


 


Bloom's: Application
Bloom's: Comprehension
Difficulty: Hard
EQUIS: Apply knowledge
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
74. (p.  )  Suppose a new computer model is introduced to replace a model included in the CPI basket. The price of the new model is 5% higher than the discontinued model, but the new model also includes additional features. In this situation, the CPI will tend to _____ inflation as a result of _____ bias.  
A.  overstate; substitution
 
B.  understate; substitution
 
C.  accurately measure; substitution
 
D.  overstate; quality adjustment
 

 


Bloom's: Application
Bloom's: Knowledge
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
75. (p.  )  Suppose that the price of apples rises sharply compared with the price of oranges. People buy more oranges and fewer apples than they did in the CPI base year. In this situation, the CPI will tend to _____ inflation as a result of _____ bias.  
A.  overstate; substitution
 
B.  understate; substitution
 
C.  accurately measure; substitution
 
D.  overstate; quality adjustment
 

 


Bloom's: Application
Bloom's: Knowledge
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
76. (p.  )  The rate of inflation can be measured by:  
A.  the level of the GDP deflator
 
B.  the level of the CPI
 
C.  the rate of change in the CPI from one time period to the next
 
D.  the GDP deflator minus the CPI index
 

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
77. (p.  )  The rate of inflation can be measured by:  
A.  the level of the GDP deflator
 
B.  the level of the CPI
 
C.  the rate of change in the CPI from one time period to the next
 
D.  the GDP deflator minus the CPI index
 

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
78.  

Use the following data for an economy to answer the question:
  

	
 Year
	Price level  
	Nominal GDP

	2004
	100
	$1600

	2006
	150
	$3000

	2008
	300
	$6000



 Using 2004 as the base year, what was real GDP in 2008?

 
A. $1600

B. $2000

C. $2400

D. $3000

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
79. 

Use the following data for an economy to answer the question:
  

	
 Year
	Price level
	Nominal GDP

	2002
	100
	$1600

	2004
	150
	$3000

	2006
	300
	$6000



 Which of the following is true concerning changes between 2002 and 2004?

 
A. Nominal and real GDP both increased

B. Nominal GDP increased, but real GDP was unchanged

C. Nominal GDP increased, but real GDP declined

D. None of the above.

 


AACSB: Analytic
Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
80. (p.  )  The substitution bias in calculating CPI can be explained by the fact that CPI:  
A.  measures the cost of living
 
B.  is based on a fixed basket of goods and services
 
C.  measures prices at two different times
 
D.  None of the given answers.
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.05 How is the CPI measured?
Section: 1.04 The consumer price index: measuring the price level
 
81. (p.  )  The three main methods of measuring GDP are:  
A.  the income method, the production method, and the expenditure method
 
B.  the income method, the production method, and the receipts method
 
C.  the goods method, the income method, and the services method
 
D.  the saving method, the expenditure method, and the investment method
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
82. (p.  )  The components of the expenditure method to measure GDP include all of the following EXCEPT :  
A.  net exports
 
B.  government purchases of goods and services
 
C.  changes in the stocks of inventories
 
D.  the implicit payments for unpaid household work
 

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
83. (p.  )  Which of the following is/are included in GDP?  
A.  Interest payments on government debt
 
B.  The purchase of stocks and bonds
 
C.  Government purchase of a new computer
 
D.  All of the given options
 

 


Bloom's: Application
Bloom's: Comprehension
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
84. (p.  )  Which of the following items is NOT part of government expenditures on goods and services in GDP accounts?  
A.  Petrol purchases for government cars
 
B.  Social security expenditures
 
C.  Computer hardware for use by the Australian Taxation Office
 
D.  Furniture for the Prime Minister's office
 

 


Bloom's: Application
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
85. (p.  )  To compare economic activity over time we should use:  
A.  nominal GDP per capita
 
B.  real GDP
 
C.  nominal GDP
 
D.  nominal GDP adjusted for unemployment
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
86. Which of the following is NOT capital income? 
A. Rents

B. Interest

C. Profit

D. Transfer payments


 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02b What is the circular flow of income?
Section: 1.02 Gross domestic product: measuring the nation's output
 
87. Which of the following is NOT consumption expenditure? 
A. Purchase of furniture

B. Expenditure on food

C. Purchase of new houses

D. Expenditure on insurance


 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
88. (p.  )  What is the largest expenditure component of Australian GDP?  
A.  Government purchases
 
B.  Import
 
C.  Investment
 
D.  Consumption
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
89.  Emil's Heritage Kitchen shop installed 300 kitchen cabinets in the year 2006 and 350 in the year 2007. The price of one kitchen cabinet was $1000 in 2006 and $1200 in 2007. If the year 2006 is the base year, what was Emil's contribution to real GDP in the year 2006?  
A.  $300 000 
B.  $350 000 
C.  $360 000 
D.  $420 000 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
90.  Emil's Heritage Kitchen shop installed 300 kitchen cabinets in the year 2006 and 350 in the year 2007. The price of one kitchen cabinet was $1000 in 2006 and $1200 in 2007. If the year 2006 is the base year, what was Emil's contribution to real GDP in the year 2007?  
A.  $300 000
 
B.  $350 000
 
C.  $360 000
 
D.  $420 000
 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Graduate Attributes: Problem solving
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
91. If a borrower and a lender agree to a loan at 5% when the inflation rate is 3%, then 5% is the ____ interest rate. 
A. relative

B. nominal

C. real

D. current


 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
92.  

If the price of coffee rises sharply compared with the price of tea, and coffee-drinkers don't mind drinking tea, consumers will buy more tea and less coffee than they did in the CPI base year. Thus, CPI will tend to _______ inflation as a result of ___________ bias.

 
A. overstate; quality adjustment

B. overstate; substitution

C. understate; substitution

D. overstate; quality adjustment

 


Bloom's: Application
Bloom's: Knowledge
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
93. (p.  )  Country X is experiencing unexpectedly low inflation. It will ______ borrowers and _______ lenders.  
A.  hurt; help
 
B.  help; help
 
C.  help; hurt
 
D.  hurt; not affect
 

 


Bloom's: Knowledge
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
94. (p.  )  Which of the following is an example of an intermediate good?  
A.  The purchase of a tyre by a household
 
B.  Holden Motor Company's purchase of tyres for new cars
 
C.  Holden Motor Company's purchase of a new machine to be used in the production plant in Adelaide
 
D.  None of the given options 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
95. (p.  )  Which of the following would NOT be included in a nation's GDP?  
A.  The government purchases two new planes for the Army
 
B.  Qantas spends $5 million on repairing jet aircrafts
 
C.  A landlord rents an apartment for $2000 per month
 
D.  A student receives $3000 from his parents
 

 


Bloom's: Application
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
96. (p.  )  Suppose we knew that the nominal level of GDP fell and that inflation was greater than zero. What could we conclude about real GDP from these facts?  
A.  Real GDP fell
 
B.  Real GDP stayed the same
 
C.  Real GDP rose
 
D.  None of the above.
 

 


Bloom's: Application
Difficulty: Easy
EQUIS: Apply knowledge
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
97. (p.  )  Which of the following is included in GDP calculations?  
A.  Illegal activities
 
B.  Goods produced and used at home
 
C.  Goods produced for recreational activities
 
D.  Volunteering services
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.03 Real GDP is not the same as economic wellbeing
 
98. (p.  )  Which of the following is NOT a true cost of inflation?  
A.  Menu costs
 
B.  Wage costs
 
C.  Shoe-leather costs
 
D.  Reduced efficiency of the market system
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
99. (p.  )  Which of the following is used for calculating value added?  
A.  Revenue and expenses
 
B.  Revenue and the costs of inputs purchased from other firms
 
C.  Profits and the costs of inputs purchased from other firms
 
D.  Profits and expenses
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
100. (p.  )  Which of the following is NOT a component of expenditure?  
A.  Net exports
 
B.  Import
 
C.  Investments
 
D.  Government purchases
 

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
101. (p.  )  In a hypothetical economy, during a particular year, nominal household incomes rise by 10% while consumer prices rise by 5% and house prices rise by 10%. What has happened to real (i.e. CPI-adjusted) household income in this economy during the year?  
A.  Real household income has risen by less than 5% 
B.  Real household income has risen by more than 5% 
C.  Real household income has declined by less than 5% 
D.  Real household income has declined by more than 5% 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Analyse
Graduate Attributes: Problem solving
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
102. (p.  )  The weekly unemployment benefit in a hypothetical economy is currently $500. The government expects CPI deflation in the coming year of 5%. Which of the following government policy responses will leave unemployed workers no worse off in real terms?  
A.  The weekly unemployment benefit payment is raised to $550 
B.  The weekly unemployment benefit payment is reduced to $450 
C.  The weekly unemployment benefit payment is raised to $525 
D.  The weekly unemployment benefit payment is reduced to $475 

 


Bloom's: Application
Difficulty: Moderate
EQUIS: Analyse
Graduate Attributes: Problem solving
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
103. (p.  )  A fashion outlet employs casual sales staff on an as-needed basis at the legal minimum hourly wage. At the same time, the owner of the outlet enters into a fixed-term contract with her manufacturer for the supply of clothing that will be sold through the outlet. Other things being equal and assuming that wage and supply costs are the only costs, what is the most likely impact of inflation on the fashion outlet’s nominal profit?  
A.  Nominal profit will increase only if wage costs are greater than supply costs 
B.  Nominal profit will increase only if wage costs are less than supply costs 
C.  Nominal profit will increase regardless of the relative share of wage and supply costs 
D.  Nominal profit will increase only if wage and supply costs are equal 

 


Bloom's: Application
Difficulty: Hard
EQUIS: Analyse
Graduate Attributes: Problem solving
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
104. (p.  )  A clothing manufacturer employs casual sales staff on an as-needed basis at the legal minimum hourly wage. At the same time, the owner of the outlet enters into a fixed-term contract with a department store to supply clothing to the store. Other things being equal and assuming that wage and supply costs are the only costs, what is the most likely impact of inflation on the clothing manufacturer’s nominal profit?  
A.  Nominal profit will increase only if wage costs are greater than supply costs 
B.  Nominal profit will increase only if wage costs are less than supply costs 
C.  Nominal profit will increase regardless of the relative share of wage and supply costs 
D.  Nominal profit will increase only if wage and supply costs are equal 

 


Bloom's: Application
Difficulty: Hard
EQUIS: Analyse
Graduate Attributes: Problem solving
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.04 The consumer price index: measuring the price level
 
105. (p.  )  It is often claimed that official estimates of CPI inflation over-estimate the rate of inflation. Which of the following best explains this argument?  
A.  The quality of goods and services tends to fall over time and consumers tend to substitute cheaper products for more expensive products 
B.  The quality of goods and services tends to rise over time and consumers tend to substitute cheaper products for more expensive products 
C.  The quality of goods and services tends to fall over time and consumers tend to substitute more expensive products for cheaper products 
D.  The quality of goods and services tends to rise over time and consumers tend to substitute more expensive products for cheaper products 

 


Bloom's: Knowledge
Difficulty: Easy
EQUIS: Apply knowledge
Graduate Attributes: Apply knowledge
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
106. (p.  )  When nominal GDP exceeds real GDP it means that prices are higher.
  
TRUE

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
107. (p.  )  Shoe-leather costs are a great problem for countries such as Australia.
  
FALSE

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.07 What are the economic costs associated with inflation?
Section: 1.02 Gross domestic product: measuring the nation's output
 
108. (p.  )  Gross domestic product includes second-hand goods.
  
FALSE

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.02 Gross domestic product: measuring the nation's output
 
109. (p.  )  The real interest rate equals nominal interest rate plus the inflation rate.
  
FALSE

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
110. (p.  )  Real GDP should be used for comparing economic activity over time.
  
TRUE

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.03 What is the distinction between nominal and real GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
111. If a measure of real GDP could include the value of leisure time, real GDP would increase. 
TRUE

 


Bloom's: Comprehension
Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.03 Real GDP is not the same as economic wellbeing
 
112. (p.  )  The real costs of inflation to society include higher relative prices.
  
FALSE

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
113. (p.  )  CPI may overestimate the true rate of inflation.  
TRUE

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
114. (p.  )  When inflation is high, lenders will charge a high nominal interest rate.
  
TRUE

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.08 What is the relationship between rates of interest and the rate of inflation?
Section: 1.04 The consumer price index: measuring the price level
 
115. (p.  )  The inflation rate is measured by the __________ change in __________ over a particular period of time.  

percentage; CPI

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.06 What is inflation and how is it measured?
Section: 1.04 The consumer price index: measuring the price level
 
116. (p.  )  ____________ is a situation where there is a sustained fall in the general level of prices.  

deflation

 


Bloom's: Knowledge
Difficulty: Easy
Learning Objective: 1.09 What is deflation and why is it regarded as a problem?
Section: 1.04 The consumer price index: measuring the price level
 
117.  

GDP equals ______ income plus _______ income.

 

 labour; capital 

 


Bloom's: Knowledge
Difficulty: Hard
Learning Objective: 1.02 What are the three ways of measuring a country's GDP?
Section: 1.02 Gross domestic product: measuring the nation's output
 
118. Recession is defined as __________  __________ quarters in which the economy's output __________. 

two consecutive; falls

 


Bloom's: Knowledge
Difficulty: Moderate
Learning Objective: 1.01 What does gross domestic product (GDP) mean?
Section: 1.01 When is the economy performing well?
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